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385 95.974584 8.8.8.1 8.8.8.2 GRE 62 0x0@9%e (158),0x0089d (157)
386 95.974884 8.8.8.1 8.8.8.2 GRE 38 oxeeosd (157)

387 96.153593 10.10.10.1 10.10.20.1 ICMP 122 oxee9d (157),exee9d (157)
388 96.156773 10.10.20.1 10.10.10.1 ICMP 122 0xeesf (159),0x889d (157)
390 96.361673 1e.10.10.1 10.10.20.1 ICMP 122 ox@e9e (158),0x00% (158)
391 96.364181 10.10.20.1 10.10.10.1 ICMP 122 0x00a0 (160),ex009¢ (158)

Frame 711: 62 bytes on wire (496 bits), 62 bytes captured (496 bits)
I'fhr’-"ue—,‘: II, Src: 9a:8f:d5:e7:05:05 (9a:8f:d5:e7:05:@5), Dst: Ga:8f:8d:a9:03:06 (9a:8f:8d:a9:03:06)
Internet Protocol Vw

;@jﬁf& Routing Encapsulation (IP)

Internet Protocol Version 4, Src: 8.8.8.1, Dst: 8.8.8.2

Generic Routing Encapsulation (Possible GRE keepalive packet)
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